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Physics for the Life Sciences — Optics Solutions

Introduction:
Dear student,
Thank you for opening this solution manual for the Optics chapter of the Physics for the Life Sciences Question

Manual. This resource has been created by members of the Education Team at WebStraw who have
previously taken an introductory university physics course.

Purpose:

This resource is meant to supplement the Physics for the Life Sciences Question Manual, by providing
solutions to select questions. To access the full question manual, please click here.

Instructions

We recommend first trying to complete the problems in the question manual on your own. If you get stuck,
you can use this resource to view the solution provided by one of our Education Team members. Once you are
confident you understand how to solve that question, we recommend solving additional related problems in
order to successfully master the topic.

Disclaimer
This resource assumes that you have a basic understanding of key concepts related to the Optics unit in
physics. If you are looking to improve your understanding of specific physics content, check out the additional

resources provided at the end of the question manual.

Note: There may be more than one correct method to solve some of the problems outlined in the question
manual. Thus, the solutions provided may not represent the only acceptable solution.

If you have any comments or feedback regarding this resource or the solutions contained in it, please do not
hesitate to contact us at team@webstraw.ca

We wish you the best of luck on your learning journey!

- The WebStraw Education Team
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J7. Nearsighted people have an overly curved cornea which leads to an decrease of the focal
length. Therefore, LASIK would need to straighten out the cornea to allow for an increase in
focal length to correct the nearsightedness.
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J11. Apparatus of camera like iris, retina to film of camera, cornea similar to lens.

J13. Farsighted means unable to see objects close clearly but objects in distance clearly.
The near point cannot converge enough rays from a close object to connect with the
retina, so the closest point Jisoo can see is 25 cm and requires diverging eyewear to
correct.
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